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20109 & 204t A=225H SEE3H &
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SA: =S
Mo FOMBXANHA M2
S MASSE 2N (=225 Sl H) (cte &
S EH . S(BH) - NEAY - B2 Ol AF o4 ggi HDE2
ZF0I= Xt 1,791,553 1,858,340 NB6,787
= 407,753
Al 1,383,800
FOIMETRAMEIA HS 1,740,645 1,807,432 NB6,787
& 356,845
Al 1,383,800
MAEES 92X (922 SH EH3AH) 1,740,645 1,807,432 N66,787
[ 356,845
Al 1,383,800
230 (NASE 9Y=2EST) 1,740,645 1,807,432 N66,787
c 356,845
Al 1,383,800
101 Q12| 13,505 13,505 0
= 12,410
Al 1,095
04 JIZtMZ2=zAsE s 13,505 13,505 0
O gg0 ArA2e o2 13,505
& 12,410
Al 1,095
201 LBt29H| 4,000 3,753 247
& 4,000
01 AIR22|H] 4,000 3,753 247
O 9230 IR AR 22| 3,000
& 3,000
O odzz30dE =% 1,000
o= 1,000
202 O4d] 9,000 8,000 1,000
& 9,000
01 2| 9,000 8,000 1,000
O 9gz30 R4 ol 9,000
= 9,000
301 LerE A3 329,435 329,435 0
& 329,435
01 AIEIB&E 45612 329,435 329,435 0
O AL HES2 XY 130,895
& 130,895
O Hojer2&3 134,140
& 134,140
O 2Boeggaz 20,000
== 20,000
O 9zZ=20 22l X3 18,000
& 18,000
O sogeddsg=2 26,400
= 26,400

308 KHXISHHMSO0IH 1,326,000 1,392,087 66,087
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N8 S9(3) - HRAY - B2 e 52

05 MXEH2ARES 1,326,000 1,392,087 A66,087
O 2d=2=0 AlZH =93 X 1,326,000

501 8Xt= 2,000 2,000 0
= 2,000

01 2ItEXkt= 2,000 2,000 0
O 2&x==i X3 200,000& 10 2,000
= 2,000

801 0Oldlbl 6,705 8,652 N1,947

01 odldl 6,705 8,652 A1,947
O oldlgl 6,705

802 Bret=JIEt 50,000 50,000 0

02 Al - EHIEXZEtets 50,000 50,000 0
O 20098 & AlEHIEEZZ 50,000

SHAY (AR SHISHIH) 50,908 50,908 0
= 50,908

2IH(A =25 SE3IH) 50,908 50,908 0
= 50,908

AU (A 2E2SHISESA) 50,908 50,908 0
S 50,908

101 Q1] 50,908 50,908 0
= 50,908

03 RIIHAZZANE = 50,908 50,908 0
O9==0 22IAH2Y) 25,454,000& 2 50,908
= 50,908




